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Econ 405: Test 2


Spring 2004
Directions:  

· You have exactly 75 minutes to complete this exam.  

· Complete all three questions.  Clearly label each part (i, ii,…).

· Each part (i, ii) is worth 9 points, so your score is based on 99 possible points.

· Explain your answer to each question in a clear, concise, yet comprehensive manner.  
· Graphs are mandatory whenever appropriate.

  
1)  (i)  Define the Balance of Payments.

(ii) Define and describe the Official Reserve Transactions when a country faces a Balance of Payments surplus.

(iii)  Assume that China is facing a Balance of Payments surplus.  Explain how the resulting market change in the exchange rate affects the Balance of Payments.

2)  (i)  State the Heckscher-Ohlin Theorem.  

(ii) Graphically illustrate the conclusions of the H/O Theorem when N1=China and N2=USA, x=clothing, and y=computer software.  What assumptions concerning N1, N2, x, and y are necessary? 

(iii)  Identify imports and exports for each country on your graph.   What does it mean for trade to be balanced?  Referring to part (b), what determines balanced trade?  Explain.

(iv)  What does the H/O Theorem help us to identify?  Why?
3)  (i) State the Factor-Price Equalization Theorem.

(ii)  Does the FPE Theorem mean that U.S. manufacturing wages are being “set in China?”  Explain.

(iii) & (iv)  Use the Heckscher-Ohlin Theorem and the Factor-Price Equalization Theorem to posit a theory as to whether 

the recent off-shoring of computer software jobs by IBM is a sign that, as a policy, expanded trade
(A)  is really beginning to harm the U.S., or 

(B)  is simply a continuation of the structural adjustment that takes place en route to greater benefits.

Defend your stance!

